Opérations Mixtes (C)

Effectuez chaque opération.

909 = 11 x12= 222 = 54+-6=
12+-6= 9+1= 30=-10= 9010 =
11 x1= 9+3= Ox2= 6x6=
222 = 20+4 = 80+-10= TX3=
204 = 10 x4 = 8xX3 = 81 +9=
2X2= Ix11= Sx10= 4x1=
13212 = 108 =12 = 70 +7 = 25+5=
35+7 = 1010 = 4x4= 120+12 =
9x 10 = Ox 7= 99 -9 = 81+-9=
102 = 202 = 10 x 8 = 12+-3 =
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Opérations Mixtes Solutions (C)

90-+-9=10

12+-6=2

I1x1=1I

22+2=11

20+4=5

2x2=4

132+-12=11

35+7=5

9x10=90

10+-2=5

Effectuez chaque opération.

I1x12=132

20+4=5

10 x4 =40

Ix1l=11

108 +-12=9

10+-10=1

Ox7=63

20+-2=10

22+2=11

30-10=3

Ox2=18

80+10=28

8x3 =24

5x10=150

70+7=10

4x4=16

9:+-9=11

10 x 8 =80

54+-6=9

90-+-10=9

6 x6=236

Tx3 =21

81+-9=9

4x1=4

25+5=5

12012 =10

81+-9=9

12+-3=4

MathsLibres.com




